c0-DEC-

20011 10:57

10:57:03 AM|4040A

3/1/2007

RELEASED FOR CONSTRUCTION - 12/05/11

GPLN

ON THIS SIDE,
ROTATE '90° WHERE
APPROACH TRAFFIC

NOSE STRIPING DETAIL

BLACK ‘GLOSS ENAMEL INK SCREEN
PRINTED ON PRESSURE SENSITIVE
ENGINEER GRADE REFLECTIVE SHEET-

- ING, TPI, LEVEL A (SECTION 913),

Mk—"BP" BEARING PLATE —.

Mk~"CA" CABLE ASSEMBLY
W/1"HEX NUT .& WASHER
EACH END

\— 3/4°0 x 10° LG HEX HD

; \ Mk-"ST" STEEL TUBE—/

Mk="PE" WOOD POST NUT. 8=

Mk-"PS° PIPE SLEEVE'
INSERTED INTO POST #

Mk="SS" OFFSET STRUT—

e
e,
e
r
-
s
o5

WASHERY®E WL — —

(STRIPING SHOWN FOR
ﬁ APPROAGH TRAFFIC * «

IS ON THE LEFT SIDE)

Mk-"PA" WOOD POST

5/8'0 x 18" LG HGR. BOLT -

L

BOLT & NUT W/2 WASHERS

4

PARTIAL VIEW

@ POST #1 - - SEC

TION_"AA"

( @ POST f2)

. 5/8% x 18" 16 HGR. BOLT
W/HEX NUT & WASHER (SEE

-SLOPE 1071,
OR FLATTER

o r

2. CONTRACTOR SHALL OBTAIN A CURREN'I" COPY OF

/‘Mk—“PG’ woop P0$T
M_ e ]

\ Mk="K" WOOD BLOCK

: ' ]

NOTE:

- SECTION "C-C" IS SMILAR @ POST #5 »

- EXCEPT RALL IS NOT ATTACHED.

" SECTION-"C~C"
(TP @ POSTS #'3,4,56,&7)

3 MOD!FICATIONS TO DETAILS SHOWN . ARE ACCEPTABLE

BILL OF MATERIAL

GENERAL NOTES:

SPECIAL DESIGN GUARDRAIL 'ANCHORAGE,

W/0 FLARE, SHALL BE PER TRINITY !‘NDUS,TRIES,

ET-2000-L.ET, OR OTHER MANUFACTURER'S

we | arr ~ DESCRIPTION
BE | 7 | WOoD POST
SR |7 | DEEP GEAW GUARD RAIL (12GA)

APPROVED ALTERNATE. (SEE ALTERNATE B)

AR | 7 | DEEP BEAM GUARD RALL (1264)

PS ! PIPE SLEEVE

THE MANUFACTURER'S INSTALLATION MANUAL
AND INSTALL UNITS ACCORDINGLY '

UPON WRITTEN APPROVAL FROM THE FEDERAL
ADMINISTRATION; - _ AL HIGHWAY

15 | woop Biock
PG | 5 | WooD POST

PA | 1 | WooD POST

ST | 2 | SIEEL TUBE, 6-6"

BF | 1 | BEARING PLATE

N CABLE ANCHOR

CA 7 CABLE ASSEMBLY - |
s | 1 OFFSET STRUT (LEFT OR_RIGHT)

GE | 1 | GUARDRAI EXIRUDER

**Nozf
THE 5/8" FLAT WASHER: IS USED UNDER THE NUT
BEHIND THE POST ONLY. NO WASHER IS USED

~———— HARDWARE ———

#_| 3/#'9 x 10 HEX HD BOLT

4 | 3/ HEX NUT

4 | 3/F WASHER

7 _|5/8"0 x 18 H.G.R. POST BOLT

76 15/8% x 1 1/& HO.R SPLICE BOLI|

AT THE RAIL.
' 8 5/8”¢ x 7 HEX HD BOLT
16 |-5/8 HGR NUT
15 | 5/8 HEX NUT
- 7 | 5/8 WASHER
2 | 3/8° x 5" LAG SCREW
7. |3/8°9xZ HEX HD SELF TPNG SCREW
2. [1/%9 x 1 3/% HEX HD BOLT
o 4 | 3/8 WASHER
SPECIAL NOTE: 2| 17 HEX NuT
A. 5011 Tapered Installation may be used 2 | 17 WASHER
to prevent the extruder from protruding 2 1/4" HEX NUT i

over curb face or from encroaching w;fhin
the shy line offset distance. See saparate
details, where applicable.

GEN. REV: 5/.7/97
GEN. REV.: 7/17/96

CONSTRUCTION DETAILS

SPECIAL DESIGN

GUARDRAIL ANCHORAGE

WITHOUT FLARE
(ALTERNATE A)

40400

~__FEB., 95 |

e
S

Yoo\
Parke 0T e e Roadways\ | 23300\0009542\DGN\Const Standards\4040A. dgn STATE PROJECT NUMBER SHEET NO. TOTAL SHEETS
- w GA 0009542 625 759
LR - . ‘\ . - o > i - ».Sv.‘g—.-n L — i - Sy e, e . *MM ,.:_‘_:\
A ' .\} .
i
N g ‘ -:‘ -
Mk—"BP" BEARING PLATE 7\ Mk="CA" CABLE ASSEMBLY <t SLOPE* 311 MAX, 4 OR FLATTER DES,———= S
Mk-"5S" OFFSET- STRUT - T —— _s— EDGE OF GRADED SHOULDER- ’
_—— Mk="CR" CABLE ANCHOR o . TS5, WITH NORMAL.
- N o ENGTH POST, OR
) o : o . | I=0"MIN. WiITH ADDI=|
~'GUARDRAIL EXIT SLOT AWAY I ‘ T Bpeggssapggpsgg TiONAl_. LENGTH POST]
. © _
FROH TRAFFC E% ‘i‘ —Wooo %/STANDARD 4011-A\
/
,,,,,,,,,,, i - i : I 1 i / i : 1 /'J‘
| / ”- . | 1 ! ! ) Z » - F ) o .
Mk—="AR" DEEP BEAM GUARDRAIL ! : , , : Mk~"SR" DEEP BEAM GUARDRAL _ » |
- GUARDRAIL ANCHORAGE, SPECIAL DESIGN ————PER | EACH - ' ‘ PAY LENGTH FOR GUARDRAIL
Mk="GE" GUARDRAIL EXTRUDFR — s o ' . R
o O - ® @
TRAFFIC S —— @ . ’ 7 v . '
| -5 - ~ -5 6-3" . 6-3" ot - o - I U A
! 3/8x 5 LG LAG SCREWS | - T F! DO NOT ATTACH RAIL TO , ! \ 5/8% x 1 1/4" 16 HG.R ' ! « , F‘ % '-
: . U, G.R.
%Oogqu A?‘ngHL gé‘{#'g% . l , | _ | | BLOCK @ THIS LOCATION  \ [| | SPLICE BOLTS & NUTS A | :
- ! A : ' - o ' L A | RAIL SPLICE ' REFLECTORIZED WASHERS (sm 4960)
" | ,—|-. ,-~L r|_, | l ' '_I_‘ | " OPTIONAL 1 BEGIN HERE. 1
DR | | _ T ' 7 1y | . | E 7L
NOSE STRIPING—| j § _ -~ 2 * I o * {ﬂ + { ' ﬁ * ] m
| T T ™ ] Nl 1] N M 7w
T oh - - - ' - —_— - ‘
A 1T == 1= = . 1= = Y ZZA\\Y. I
i IRL |} | B Z\4 | L TR /A\\/ |
AL I I I_1 I I | : I
o e == =] == =1 I |1 .
b [ [ Il || I I I
. l | I I o1 [ |1
o | [ I Il I I I
.l | [ 1 [ || I I
I I (e | || I i |1
[ (. L. L J L L LJ
I : :
| [:"
A

GROUP

TRANSPORTATION CONSULTANTS
A UNIT OF MICHAEL BAKER CORPORATION

3595 ENGINEERING DRIVE
NORCROSS, GEORGIA 30092
(770) 263-9118

THE
LPA

REVISION DATES

STATE OF GEORG/A
DEPARTMENT OF TRANSPORTATION

OFF I CE :

INNOVATIVE PROGRAM DELIVERY

GEORGIA STANDARDS

DRAWING No.

41-022




